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Specifications:

SIMULATION & ANALYSIS DETAILS FOR PION:
Particles: pi-
Events: 80000 (0-30 GeV), 50000(0-10GeV) [geta: -4 to 4]

Various Cuts used:
- NEW pseudorapidity cuts on calorimeters:
* Pion:
-CEMC, HCALIN, HCALOUT: n=-0.98 t0 0.99
-FEMC, FHCAL: n=1.32t03.14

- Clustering cut based on theta and phi values
- Theta-dependent energy cut on individual tower energies
- 0 cut on aggregated tower energies for each event

Introduction of finer binning at lower energies: 0.5GeV bins from 0 to 2 GeV




Barrel Resolution (CEMC+HCALIN+HCALQUT)
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CEMC+HCALIN+HCALOUT: Gaussian fits

First four bins with fine binning:
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CEMC+HCALIN+HCALOUT: Gaussian fits
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CEMC+HCALIN+HCALOUT: gaussian fits
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Forward Resolution (FEMC+FHCAL)
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0-2 GeV: 1 bin
o /E vs ge (FEMC+FHCAL)
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FEMC+FHCAL: Gaussian fits

First four bins with fine binning:
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FEMC+FHCAL: Gaussian fits

3

3

3

3

3

3

=3

3

=3

3

o

3

S

3

5]

3

3

8

S

=3

8 &8 3 83 8 &8 3

o

- - te-ge te-ge
tegﬂe vs ge (FEMC+FHEAD iz » % vs ge (FEMC+FHEAD i ?9 vs ge (FEMC+FHEAD) s ) QE vs ge (FEMC+FHCAL— -z
= Entries 3667 = Entries 3647 e Entries 3793 ol Entries 3794
= + }[ %2/ naf 159.3/52 E } %2/ ndf 76.29/49 F * %2/ ndf 70.42 /41 E H %2 / ndf 90.07 /37
8 H + Constant 164.9 200E | i H Constant 2009 | 2o Constant 250.9 & { : Constant 296
E + + Mean 0.003659 180 H ﬁ Mean -0.01432 = i i Mean -0.009542 250 ' Mean 0.002887
= ,% Sigma 0.445 160[— H 1 Sigma 0.3701 00l ﬁ { Sigma 0.3081 E it Sigma 0.2596
= M % 120 WL{ 150/ H _} 150i \{ {
] P P : ; -
E { % 80— + j{ 100— i h 100 : :
E 1 L E I E 4 { £ | 1
= ]{ 4 80f K }+ F $ / E / ]
= g . 40 4 .. s0— . E 1
f_ fﬁ ﬁ{tﬂ_ 4 20 3 f"}ﬁ w‘ = H + k 505 Ay f i“f
E ‘\* P {';ﬁt.ﬂm st L4 GE Ll A ﬁ*ﬂfﬁ " L A A WA L Co i et M L
-1 0 1 2 oge -2 -1 0 1 2 oge -2 -1 0 1 2 oge -2 -1 0 2 tege
“ge ge e e
= = te-ge te-ge
tegﬁe v ge (FEMG+FHEAL s % vs ge (FEMC+FHEAL) —iots i} ?9 vS ge (FEMG+FHEAD i i gE vs ge (FEMC+FHEAD) —its
F Entries 1468 180/~ Entries 1508 200/~ Entries 1537 s00F- Entries 1571
£ Wl 2/ naft 70.24 31 160F- H %2/ naf 81.29/30 180 x?/ naf 95.35/ 31 E x* / ndf 117.8/30
= }[ Constant 129.4 = ¥ Constant 148.1 E Constant 158.7 80 Constant 178.8
C 8 Mean 0.02627 140 % }[ Mean 0.03269 180~ Mean 0.04499 160 Mean 0.02593
= H H Sigma 0.2241 E- :J[ + Sigma 0.2 140 Sigma 0.1884 1ioE- Sigma 0.1686
E ;': H E il 120 f— 120
£ I 100~ oy = =
= Jj 1 E % % 100/ 100
3 * { 80 E— P{ 80 ;7 50;
F Ji ]ﬁ e i Jq s 60—
E 1( } 40 i H 40— s0E- 3
= N H; jﬁt 20) E— ﬁ,f E 20 : 20 4 ﬁ
E e I P | I 0 E L i mﬁtﬁ' | }’h J | ok L mmd#g') ! | E L Lt ﬁ‘m ! 1
-1 0 1 2 ege -2 -1 0 1 2 joge -2 -1 1 2 jege -2 -1 0 1 2 toge
e ge e e
te-ge te-ge te-ge te-ge TN
_ ge— Vs ge (FEMC+FHCALy Sices _ ge— Vs ge (FEMC+FHGAL) Sice1d _ ge— Vs ge (FEMC+FHCAL) Siceis _ 5o Vs ge (FEMC+F umf, Siicels
E Entries 1498 220 Entries 1474 250l Entries 1577 250l Entries 1601
= x?/ ndf 115.5/27 200F- ¥2 / ndf 112.4/26 F ¥2 / ndf 119.8/26 F ¥2 / ndf 128.3/26
E Constant 179.6 E Constant 190.1 F Constant 223 = Constant 226
E Mean 0.03118 "E Mean 0.02725 200 Mean 0.03161 200 Mean 0.0232
= Sigma 0.1598 180~ Sigma 0.1487 C Sigma 0.1356 C Sigma 0.1352
E i E 150~ 150 —
E 120~ r C
= 100 r C
= 80 ; 100 - 100 -
E : oof- E B
3 [ of o o
E YA - F ) F +
E Uity 'ft | [ Py = | [ ) et | [ Coy st | [
-1 0 1 2 loge -2 1 2 tege -2 -1 1 2 tege -2 -1 1 2 oge



FEMC+FHCAL: Gaussian fits
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THANKS!
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